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OEHEXZANY 9,642
—MEHSEUH =4 8,000,000& 8,000
= 4,000
= 4,000
—&d0eM=Esotel X& 1,642,000 1,642
= 821
= 821
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2AMd: 2322
M RS S8 ALE 2U(SHUYDZ/AR)
2 Mg 243 XN CEE-ED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
MEHs ZTz)H 29 (%) 9,792 9,792 0
< 2,937
s 6,855
307 gl2tol & 9,792 9,792 0
< 2,937
s 6,855
02 It HAHE L 9,792 9,792 0
OEHIEXZAY 9,792
—dEds Z208 & 9,792,000 9,792
< 2,937
s 6,855
XA A= MdAXEAUE (EHI) 110,000 110,000 0
< 30,000
s 80,000
307 21201 A 110,000 110,000 0
< 30,000
s 80,000
04 DIZHHALALSE E X 110,000 110,000 0
OZHIEx=AL 110,000
—ZYHENA BY HR MAREH S
110,000, 000& * 13| 110,000
< 30,000
i 80,000
U HMSUE 100,000 60,000 40,000
307 glz2tol & 100,000 60,000 40,000
04 QIZFHALAIH 2 = 100,000 60,000 40,000
OzZeN<=Hsl 100,000, 000& 13| 100,000
COMSUE 200,000 200,000 0
307 glz2+ol & 200,000 200,000 0
04 QIZFHALAIH B = 200,000 200,000 0
O HM=slz =& XNF  200,000,000& 12/ 200,000
MEHSUHEH AH 70,000 70,000 0
307 21201 A 70,000 70,000 0
04 QIZFHALAIH B = 70,000 70,000 0
OZ &gz dENsUHEE &It X
70,000,000& =13l 70,000
24 Hs 2435t 56,200 56,200 0
201 et 22,000 22,000 0
03 &Ar2 Gl 22,000 22,000 0
OLCHOEESUE MHA(SHUS)
2,000,000& 110 S H*13] 22,000
307 glz2+ol & 34,200 34,200 0
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AN 23220

M M8 S6 A48 2 (2L F/HK)
el s #4438 X CEE-ED
SA - BB B () - MM - BES Ol &t o San HmEET
04 DIZFSHALAIRI 2 = 34,200 34,200 0
Odgsl &I HNoE=UHS 7,000,000& 13 7,000
OO0l HOIESTH 3 10,000,000% *13| 10,000
okl det2E=Z0g 10,000, 000& 13| 10,000
OkodeteEzZda(S2HUs) 7,200
—SEE 1,000, 000& *13| 1,000
— ool 800,000& x13] 800
— JIEtH 600, 000& *9IH 2 13| 5,400
StHHE & R dE=d 28,000 28,000 0
307 glz2tol & 28,000 28,000 0
04 DI2HHALALSE E X 28,000 28,000 0
ODAS % 2484 LYY
3,500,000& x8& = 28,000
geZH=s 2 H3Ig8 MSHM 4 15,000 15,000 0
307 gl2tol & 15,000 15,000 0
04 DIZHHALALSE E X 15,000 15,000 0
OgtdzZH=s 2 E3ld MSAN N2
1,000,000& *15& = 15,000
Sdgor It SR> 4 15,000 15,000 0
307 21201 A 15,000 15,000 0
04 DIZFHALALSE E X 15,000 15,000 0
Ogd=dedot 8= =S sd FEFUE
15,000, 000& 12/ 15,000
SuZt SZHS 10,000 0 10,000
307 21201 A 10,000 0 10,000
04 QIZFHALAIH B & 10,000 0 10,000
ogd==tl =Z03l 10,000, 000& 13| 10,000
SAZMEN ST AEIE MSEA XA 15,000 15,000 0
307 21201 A 15,000 15,000 0
04 DIZFHALALSE E X 15,000 15,000 0
OgLzdEM=S AL MISAA X
600,000& 258 = 15,000
grzdEss T Msds &8 N2 9,500 9,500 0
307 21201 A 9,500 9,500 0
04 QIZFHALAIH B = 9,500 9,500 0
OoggzMaxss oo MeUHs 28 X
475,000& x20& = 9,500
3PS 10,000 10,000 0
307 21201 A 10,000 10,000 0
04 QIZFHALAIH B = 10,000 10,000 0
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2AMd: 2322
M RS S8 AYS 20 (SHLDB/UR)
2 Mg 243 XN (&)
SA - BB B () - MM - BES Ol &t o San HmEET
Ozt 23S 10,000, 000& *13| 10,000
H=E70H3E 15,000 15,000 0
307 glz2tol & 15,000 15,000 0
04 QIZFHALAIH B = 15,000 15,000 0
Ogtedz=tf d=&-20al 15,000,000& *12] 15,000
sgeZt SRS 10,000 10,000 0
307 21201 A 10,000 10,000 0
04 DIZHHAFAL I 2 X 10,000 10,000 0
ogdz==tl =203 10,000, 000& * 13| 10,000
d=HL AN 20,000 20,000 0
307 2201 A 20,000 20,000 0
04 DIZHHALALSE E X 20,000 20,000 0
OSdl&ot= &= HLAUSE
20,000,000& =13l 20,000
gzt SRS 20,000 20,000 0
307 21201 A 20,000 20,000 0
04 DIZFHALALSE E X 20,000 20,000 0
oggz=tl =203 20,000,000& =13l 20,000
=253 5,000 0 5,000
307 gl2tol & 5,000 0 5,000
04 DIZHHALALSE E X 5,000 0 5,000
OMEZE A2 203 5,000,000& x13] 5,000
B THal 15,000 0 15,000
307 glz2tol & 15,000 0 15,000
04 QIZFHALAIH E = 15,000 0 15,000
OHM2sl &=t XecldA BHAZUS
15,000, 000& 13| 15,000
A= OHAHE 243 50,000 50,000 0
307 glz2tol & 50,000 50,000 0
04 DI2ZHHALALSE E X 50,000 50,000 0
OSotH &dX&Ed |FAU(SEH . HUA BHAE)
50,000,000& 50,000
HEAE 22 922,775 846,899 75,876
HsAE |2 70,965 20,965 50,000
201 Let24d] 6,100 6,100 0
01 At 22/l 6,100 6,100 0
O&dl Xt 2,200
— EgH 600, 000& *23] 1,200
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AN 23220

HM: Heg st HLs 2o(2sYLHZ/HE)
e HSAE 89 (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
— QoA D] 100, 000 +5CH x23| 1,000
OMESAE 22HEEZ HZE 60,0003 *x55 3 A 900
OMs& &8s WM 150,000 204 3,000
206 M = dl 14,865 14,865 0
01 X2 H| 14,865 14,865 0
OM=sAE F=HAY| 2,015
—0FIIE FEYR 2,100 8004 1,680
—FHIIE 2 5,000& *x40= 200
-0 S 3,000 =45 135
ogtd o A=A el 60, 000& *5& x5 A~ 1,500
OXCI&2 EHRY(ZETES2SHE 2 3MA)
4,000 *x500 L 23| 4,000
Q&2 2R (ZEE2sHE 2 3MA)
350,000 x 150 13 5,250
OXCl&E sARA(ZTES2SH 2 3MA)
5,000 x60H *33] 900
OQXCI&2 H2RA(ZESH2sH 2 33MA)
10,0002 *60 L *23| 1,200
401 Al HI L £ 0HHI 50,000 0 50,000
01 Al& B 50,000 0 50,000
OO0 M=0a HaMs =9 03 &X
50,000,000 50,000
HESAE 2d 22 144,620 143,720 900
101 2121 H| 12,060 11,160 900
04 JI2ZtHIZ22NEE S 12,060 11,160 900
OMESAE SAdHY(ZSES2sH 2 7HA) 12,060
— &AAFH 48,240& x5 »30 7,236
— & &2 48,2403 »5H %20 4,824
201 et 9| 132,560 132,560 0
01 AR 22l ] 8,760 8,760 0
Ogbt=2H| 8,760
— =S (E2FE) 150,000 2H x23| 600
St&A SEXN Y HAsE 2
120, 000& *4JH A *x63] 2,880
~HEA HATT L IR P
45,000& *4H A *63] 1,080
— 20AH 2H92(D2HsH)
350,000 x12& 4,200
02 232 4| 123,800 123,800 0
O2232=2 % HA 123,800
—AYOIHAA U HUHY 4,440
N2z 130,000& =123 1,560
oot = &2 130,000 123 1,560
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SN 2se2 Y
Hu: MRS S8 AL POU(SHUYDI/ASF)
Sl HSAE 2Y (B9 ®R)
2N -3 -2 (SH) - NHEMY - BES Off &F o4 %Ei Hwsz
FINOEE"Y 110,000 »123] 1,320
~®J1e32 94,200
=Rk 1,500,000 * 122 18,000
e R 1,800,000% * 122 21,600
AHSH 700,000%! 128 8,400
CMERSIBA 1,200,008 %20 4 %128 28,800
gD 750,000 128 9,000
SYNONESTE 300,0002! 122 3,600
HYBEH(EAF) 10,0002 * 122 1,200
=3y 10,0002 * 122 1,200
olatolE el & 10,0002 * 122 1,200
eSS 100,000 122 1,200
— 442503 150, 0002 574 4 * 122 9,000
— QAN 242 5,760
e R 480,000% *4 )| 1,920
za2sE 480,000 *4 )| 1,920
SYMEHSDH 480,000% *4 )| 1,920
~HHE 2h AR 5,000,0002 5,000
—SFI| B0 1,500 202 20 A+902 5,400
BYTVHSME 2 707,190 682,214 24,976
101 21218 349,120 333,994 15,126
YSEEEPETPS 349,120 333,994 15,126
SENVIEA-" PY 190,744
- 54,8002 *5% 3132 85,762
—F=x4g 54,8002 *5% 522 14,248
—oixt g 54,8002 %52 * 122 3,288
—otEaY 20,0002 ¥5% +3132! 31,300
— g4y 54,8002 +0.5+5% %1102 15,070
Y2y 10,0002 *4% %2012 8,040
—su2yg 20,0002 *2 602 2,400
— 83 54,8002 %52 x302 8,220
— A2 160, 108,000 * 14% 22,416
OR2|8 (L), B A) 127,558
—Jlza 48,2402 *5% x3132 75,496
—Fxag 48,2402 *5% 522 12,543
— Ry 48,2401 *5% * 122 2,895
~su224g 48,2401 +0.5+5% %1102 13,266
— 83 48,240 *5% +302 7,236
— A2 115, 153,400 * 14% 16,122
Ogaelg 30,818
-Jz2a 50,8002 %1% x3132! 15,901
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2N S22
M HSS S5 AL DO(SJAVBB/UK)
Sl HSAE 2% (29 a8)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
— F=xxe 50,800& * 1Y x52 2,642
— X< 50,800& *1H x12L 610
-5 50,800& *0.5x1H *110! 2,794
— g4 40,000 x1H +x12& 480
—dedxg 250,000& x1H = 12& 3,000
— &332 50,800& *1H x30 1,524
— 40 2E 27,616,600 *14% 3,867
201 et A bl 320,520 328,920 A8,400
01 AFR2 2t 2l Yl 29,670 32,670 A 3,000
OgBt=gH| 29,670
— Z2A X 300,000& x12& 3,600
— &30 9X 60,000 *6CH x12& 4,320
— = &l 7,000 x5% x20 700
— EANEBO gd= 300,000& x12& 3,600
—EHAER 300, 000& *63] 1,800
— M 100, 000& *208+ A 2,000
—gx=3 X 50,000& 128 A 600
—SI&A SFEIX 60,000& *60EF A 3,600
- 301 15,0003 *308+ A 450
—EFES 500,000& 500
—EE=Z2 M 500,000& *43| 2,000
— MAAE HE 80,000& *500H 4,000
— EolAl JIME 3,000& *5007H 1,500
—AIRE B2 200,000& 58 1,000
02 35249t 290,850 296,250 A5,400
O332=2 % HA 290,850
—MIIR23 5,500,000& x12& 66,000
-3 4,500,000& x12& 54,000
— I3 RE 2 1,000, 000& *23] 2,000
— 24 (JtA) 1,400& x7,200kg* 12& 120,960
—FEYSs bz 10,0002 = 15CH *12& 1,800
— 3z T2 SANE4 2 (ot=EA0
ATEAN) 500,000& x12& 6,000
— &Moot 842 400,000 x12& 4,800
—SYINHEEH Ed 2 150,000& = 12& 1,800
— Aot 895 350,000 x12& 4,200
— 5o I8 9=
200,000& »2CH = 12& 4,800
— 8ol HIHA =2 100,000& *2CH 200
—AUFUEBHE =235 1,000, 000& *13] 1,000
— 229 E 3l 45,000& 23] 90
— & 2ZBA =3 50,000& *43] 200




SN 23 BBY
M MSS S& ALE 20 (SHUYAZ/AR)
ool MSAL 29 EERED
SN EH - (EH) - HRAY - BES 0] &k o4 il Hl D2
—HrZE B4 29 7,000,000 »25] 2,000
—2HeIANE T DA 10,000, 0002 10,000
—22 34 89 20,0002 *250 5,000
—gagsd 4 B 6,000,000 * 13l 6,000
206 T 2 4l 16,050 19,300 A3,250
01 HE Yl 16,050 19,300 £3,250
OgAagMI| 43 ¢ 16,0002 *400 % 6,400
Oy HAM 7Y 35,0002 *50% 1,750
SIW 7Y 50,0002 *307H 1,500
OPHZ AT 79 150,0008 *20S 3,000
OMEZZH 2Y 6,0002 *3007H 1,800
OZBZXJ| GiBHTE 79 800,0002 *23] 1,600
401 Al EHI L 2O 18,000 0 18,000
01 Al& I 18,000 0 18,000
oS4 sANs &3 8,000,000 * 12! 8,000
0472 A& 22 10,000,000 *14! 10,000
405 XHaHE S bl 3,500 0 3,500
01 LS EHSY 3,500 0 3,500
ODYMEI P 3,500,0002! * 1CH 3,500
MSAE "l 2,013,969 2,925,452 A911,483
9y 1,050,000
2 963,969
MSAE 5 2 Il 663,969 493,452 170,517
401 Al EHI 2 20l 663,969 493,452 170,517
01 Al&HI 660,000 491,500 168,500
OMSAE SNE4 2 ARD 44
10,000,000 %374 4 30,000
OCHOIRIS AL X4 ALY 500,000,000 500,000
OBYMENSZ BILIADE B2BA
50,000, 0002 50,000
OOI® HSZ Z PAZA 50,000,000 50,000
OA7AZ 2SN &X 30,000, 0002 30,000
03 Al& =T 3,969 1,952 2,017
OJIE 2 HI 630,000, 0002 *0.63% 3,969
BYALE 13 EM(2X) 1,050,000 825,000 225,000
T 1,050,000
401 Al EHI L 20 HI 1,050,000 825,000 225,000
T 1,050,000
01 Al&HI 1,050,000 819,802 230, 198
OXIS3| A A 1,050,000
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AN 23220

M RS S8 ALE 2U(SHUYDZ/AR)
Sl MSAE ZH CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
—ESYATX I3 LAY
1,050,000, 000& 14 1,050,000
Xl 1,050,000
MBI (L) 300,000 0 300,000
401 AIEHI L 2CHEI 300,000 0 300,000
01 A& HI 300,000 0 300,000
OdRdaENsIa =48 HYEXN e
300,000,000 300,000
HAE2HZHI(JIEH/IIE) 85,344 85,344 0
JlE&dl 85,344 85,344 0
JlE2&l 85,344 85,344 0
201 et 41,244 41,244 0
01 At 221l 41,244 41,244 0
ORNEA 1,831,000& »19H 34,789
O=etl 4,655
— S204ldl 7,0003 19 35 4,655
O=A2| & xt 150,000& = 1CH«12& 1,800
202 odl 39,900 39,900 0
01 =i 4 1l 39,900 39,900 0
OZHoHI 100,000& 19 » 128 22,800
O&2 o dl 75,0003 x 19«12 17,100
203 YR =&l 4,200 4,200 0
04 FN2ELRZ=TH| 4,200 4,200 0
ORANM2IYRFLH 350,000& x12& 4,200
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